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@ bcosit -2 (1+VZ7)cost +/T = 0
@ coszx - 4 sinx cosx + 35 coszx = 0
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j) sinx cosx + 2cos x = 0
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k) S sin x 4+ 35 sinx cosx - 4 = 0
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1) 2sinXx - cosx = ? + 5 sinx cosx
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m) 2Sin4x - sin xcoszx - 3¢cosx = 0



chap7-trigo-200504.notebook May 02, 2020

——

(%) 4(:032[1:)-—2(1-1-/2—)‘203(1‘-) +/2 = 0

Jf telr
= (n L E) = xoé 5(942~}/1rj;)a(% ; = O
> Gl t] = o ab ho = 2x- 202 x +12 =0
¥in Qac/zam)\ﬁ/nw):O

¢~ (22{%)/290&) =0
e

SRR BNCC
@szw(@ W“’Lm‘@ﬁ) é\mz;ﬁ

= & 62 %7%82/?) ol +fzzT()‘ gfﬁﬂr' ‘Z\(Tﬁlns

17



chap7-trigo-200504.notebook May 02, 2020

4%2 ;L('(fr)ff‘ﬂr =0
L lﬁ %ﬂ{} 9f7

= 1 +2 2%2 %I7
-3~ zfz-@
U*W TJ}ZF

\Mﬂ*[\/j “& N\

& DC:/i&?L\/(Jﬂ~ o X - 7‘\\\3 4+XZ
o

4
=) X = = —
S > )

18



chap7-trigo-200504.notebook May 02, 2020

—

@ cosz(x\- 4 sinfx)cosk) + 35 cosz(x) = 0

2 z>(a&u@—&w® ’
A =0 ow )b =
= acc{% R j Dccg«%%ﬁ\r%

é\méeﬂrﬁw)/Wéfﬁﬂ%

%

19



chap7-trigo-200504.notebook May 02, 2020

20



chap7-trigo-200504.notebook May 02, 2020

?) Résoudre les équations suivantes :

linéaires
2 cos x + 3 sin x = 1
b) 3cosx + 2s8inx = -3
&) 2cosx + 3sinx = 3
d) cos x + 2sinx =
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